GENERAL SCIENCE QUESTIONS/ SAMPLE PAPER -18

1. Antacids are recommended when a person is suffering from indigestion, because, it is assumed
indigestion is caused due to rise in pH of stomach

J9 afFd 39T ¥ AT gar & ar tarfds & Rf{wier & ardr § #360if ag A7 onar & &
3 ¢ & dud F afT & HRoT @ ¥

(a) Assertion is correct and reason is correct / 31fApUT Q:lﬁ %’ 3R &Ror Hﬁ %’

(b) Assertion is correct but reason is wrong / TRPUT TEr & olfehed HROUT I &

(c) Assertion is wrong and reason is wrong / 3IfR&U ITed g 3R $ROT Tad §

(d) Assertion is wrong but reason is correct / fAFUAT I0 T %’ Jfeha ROT ﬂﬁ' %}

2. When aqueous sodium chloride is electrolysed, which are right combination of species obtained at the
two electrodes?

S Tl AfETH FARSS Y Soldciases HaAT SAT §, S & Soldeisl W Ied Jalriaar &l
T ISteT g?

(a) Hz at cathode and Cl, at anode

(b) Na at cathode and Cl, at anode

(C) Na at cathode and O, at anode
(d) Hy at cathode and O, at anode

3. Mineral acids can be safely stored in the container in which of the to container in which of the following
metal:

Tl TRIE A e ¥ AT 7§ PR # ¥ B g ¥ e 3 Hafa Rear o
HehdT &

(a) Aluminium/ (’Fﬂﬁﬁl’qﬂ

(b) Iron/ 3TALeT

(c) Silver/ TaTd

(d) Zinc/ TSI

4. Choose the correct statement about chemical reactivity of elements along a period and along a group.
T 3Tad & Y AR T FHg & WY dedl ST THRAS FiAfHar & TR F GET HUT ol |
(a) Decreases along a group/ Ueh HHG % OIY T g

(b) Increases along a group/ Teh H¥Hg F gy dodT §

(c) Increases along a period/ Tah 3af®T & AT F&dr &

(d) None/a'flé' a_-lﬁl

5. Which amongst the following elements whose atomic numbers are give belong to the same period?
fAeAfaf@d deal & & fohaehr AT FATh TAE ITad & 87

A=12,B=20,C=10,D=15

a)Aand D

b) Aand B

c)BandD

d)CandD

6. Hydrogen resembles with ......... aswell as ............ because it can form H+ ions as well as OH-ions.
gIBaIate ......... & G-I ............ O AT Soial § #ifh Jg H+ 3=l & WIY-HIY OH-
ions &I AT & T &l
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(a) Sodium, carbon/ |STH, et

(b) Alkali metals, halogens/ &Y ‘ETIT;T, GIEG]

(c) Alkali metals, alkaline earths/ &Y ?TIT-QT, IR t[%_cﬁ
(d) Halogens, alkali metals/ gelloteT, 8T %ngr

7. The relationship between which is shown by and velocity the second equation of motion:
afd & gaEY AT ganT 3R 997 & T F gey G = §:

(a) velocity and time / 33T IR @

(b) position and time / F&afa 3R &%

(c) position and velocity / f&afa 3R a7

(d) velocity and acceleration / 33T 3R caxo

8. What is the kinetic energy of a bullet when a bullet is fired from a gun?
dgeh ¥ el Tellel TR el & TSt Fall &A1 gl 82

(a) Less than that of a gun / Teh Eﬁ!@; T &

(b) Infinite / 310

(c) More than that of a gun / Teh a?@ Fr Jefell 7 3w

(d) Equivalent to a gun / Tch EI?@"T & ST

9. Aluminum metal is used for making cooking vessels as aluminium is good conductor of heat and
electricity.

TogHITH 4T &1 39T el Gohld & Sclel Sellel & foIv fham Srem § F3ifeh togafags
AT AR fosTelr &1 3T Hagsd gidr §

a) Assertion is correct and reason is correct / AfAFUT Fl?f %} IR FROT FI?[ %

b) Assertion is correct but reason is wrong / FTRFUA 'H%T %’ Sifthel HROT ITeld %

c) Assertion is wrong but reason is correct / IfAFUAT 0T %} JfehaT ROT '\'T&?F %}

d) Assertion is wrong but reason is correct / A UFITIT % Afhel HRUT Hﬁ %}

10. An 18-carat gold contains
T& 189WC A #H glar &
(a) 15% impurities /15% HQW
(b) 25% impurities /25% Hﬁﬁﬁ?ﬁ
(c) 30% impurities /30% 3Te[eferar
(d) 40% impurities /40% Hﬁﬁﬁ?ﬁ

11. Glacial acetic acid is/ Tl vfafes vfas &

a) An squeous solution of alcohol/ QRTS I Teh STl el

b) Vinegar/ T&T&T

c) An aqueous solution of acetic acid/ Tf&fceh TS &1 & el gl
d) 100% pure ethanoic acid/100% [c&r g9z TS

12. The focal length of the eye lens increases when eye muscles
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3G & ol F & Blehol oialTs 9¢ ATl & ST9 AT I ATGUfAAT

(a) are relaxed and lens becomes thinner /WWQ‘%’%W@I’HW@W%
(b) contract and lens becomes thicker /WWWWETE’IHT%

(c) are relaxed and lens becomes thicker /WQ}I%}TTTWH)IETETHIHT%

(d) contract and lens becomes thinner /Wﬁwmﬁm%

Sol-

Ciliary muscles modify the curvature of eye lens. When eye muscles are relaxed, eye lens becomes thinner
thereby are relaxed, eye lens becomes thinner thereby increase in the focal length of eye lens.

A3 AT AT T FH Ihar o TN Y &1 ST 3@ T ARt Y 3R Aear g, ar
3T T oI T Idell &1 ST & [T 3R AT &, 31 FT oI Tdell 81 SIdT & forad 3% & of | T

Hlhel JIdTS 96 ST g |
Ciliary
muscles relax Eye lens
becomes thinner

_(

Distance object

13. Ag.S reacts with H,SO4 to form

Ag:S H2504 & AT 31TRTHAT eh SoATaT &

(a) AgsO,

(b) Ag2SO, + H,S
(c)Ag,0 +H,S
(d) AgOH + H,S

Sol- B
AgsS + HS04 — AgyS04 + HaS

14. Aluminium is used for making cooking utensils. Which of the following properties of aluminium are
responsible for the same?

TTATAIH T SYATT WIAT Tehlel & clel Soilel 7 T ST 8 | Togefoas & frfaf@a A a ala @
IuT 58 fIv fSFAeR 87

(i) Good thermal conductivity /37T ATdRT ATeTehdT
(ii) Good electrical conductivity /mﬁagﬁw
(iii) Ductility /eTTeTdeT

(iv) High melting point /3T ITelelish

(a) (i) and (ii)

(b) (i) and (iii)

(c) (ii) and (iii)

(d) (i) and (iv)

Sol-

Good thermal conductivity, malleability, light weight and high melting point are the properties of
aluminium due to which it is used for making cooking utensils.

3TEST AT TeTehdl, ST, §ooh dofel 3R 3T Iefelich TegFATg# & 0T § ToTieh HRUT SHHT
YT WTAT Tehlel o FcleT FTTel o folT fHaT SATAT B |
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15. A beam of light is incident through the holes on side A and emerges out of the hole on the other face
of the box as shown in the figure. Which of the following could be inside the box?

SIehIRT hT TahT0T A T 3R o el & 3Tafaie gl & 3R T # 2T 37ER Sled o g@ Heleh & e &
e Aperd § | fFeafaf@a & & sl ar s & 3T g qhar g?

A B

-
o

HV Yy VV‘V[

Box

(a) Concave lens/3Tadel oiF
(b) Rectangular glass slab /3TAATRR Tl Told
(c) Prism /FO=H

(d) Convex lens /3T oI T

Sol-
From figure, it is clear that parallel rays converge at a point and emerges from face B. So convex lens would
be possible inside the box.

3T &, Tg TASC § foh FATAIC fehiol Teh feig o) fAelcll § 31X U6 B & foleholdll § | SHTAIT 3ol ofd
STeFd o 37X G gIaT |

a A W N =

2YroYoYaY oY

16. Which of the following is the correct arrangement of the given metals in ascending order of their
reactivity?

AT & & st € &1 378 3t hr SeTeht FfcIfohameiieralr s IRIET shet H WET cTaeT 82

Zinc, Iron, Magnesium, Sodium

(a) Zinc > Iron > Magnesium > Sodium /S>3 ATANRTE> AfzTH
(b) Sodium > Magnesium > Iron > Zinc /A 3Id> HeRIIHT> 3R> 5
(c) Sodium > Zinc > Magnesium > Iron /AI3Td> 5> HaaNRIae> 3R
(d) Sodium > Magnesium > Zinc > Iron [AT3TH> AeA T T> Sieh> 3R

17. Which of the following is not physical change?
fArafaf@d & & e ar sifas aRada 78 &2

(a) Boiling of water to give water vapour /STel aTSq ¢oi o TelT UTaiT Sl 3&TelelT
(b) Melting of ice to give water /AT &ot 3 TorT SO a1 TrEreteT

(c) Dissolution of salt in water /9Tl & FAH& T [T

(d) Combustion of Liquefied Petroleum Gas (LPG) /Hﬁ%mﬂﬂ(ﬂﬂqml) hl cgol
Sol-
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Burning of liquefied petroleum gas is a chemical change because on heating it produces carbon dioxide and
water. Hence, it is a chemical change.

TSl USHTIIH I T STolelT Ueh AT feleh IR g Fdiieh I8 il R T hislel STS3TTeFATSs AR
Tt YT AT § | 37T: g Teh I feieh IRad 8|
Chemical and Physical Changes

Chemical change: A Physical change: Matter
chemical reaction forms changes form but not
new products. chemical identity.
& ' +//4
$ 3 | A =
- ’ / LT
Combustion Rotting Melting Shredding
o P
Ty [a ®© .
Rusting Digestion Boiling Chopping

Examples of physical change:

1. Melting of Ice.

2. Boiling of water.

3. Freezing of water.

4. Washing of clothes.

5. Cutting of the paper.

6. Breaking a glass.

7. Cutting of wood.

8. Melting of candle.

9. Melting of candy.

10. Dissolving of salt in water.

18. Which among the following is (are) double displacement reaction(s)?

fFATa T 7 & Fie-a1 () arexr [ sfafrarg?
(i) Pb + CuCl — PbCl, + Cu

(ii) Na2S0O4 + BaCl, — BaSO4 + 2NaCl

(i) C + 0, — CO,

(iv) CHa + 20, — CO, + 2H,0

(a) (i) and (iv)

(b) (ii) only

(c) (i) and (ii)

(d) (iii) and (iv)

19. Electrical power is given by

e Aferd carT & Sirelr &

(1) P=V/I

(2) P=I/V

(3) P=I?/V

(4)P=VI

Sol-

The electric power is given by P = VI, where V is the potential difference, | is the electric current and P is
the electric power.
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e ferd P = VI GaRT &Y STl 8, STeT v Henmfad 3icX 8, | faeg e Jarg ¢ 3R p faegd afFa &

20. Figure a, b, c respectively; indicate the point in case of:

=T T, &Y, Ay spaAer:; & A | fog gfaa i

4
- - ~S .
- - —t'.-‘
\ ‘, — )
—— e
\‘
(a)
” e ” g N
P C—__{ \ NS \
/ A ~— \ / ,~‘~ \
- - t\ - __—'»t- e ‘_'.T“
— MR - / - ~~\,"’ /
- ‘ ' / ~ /
(d) (c)

(1) The farsighted eye, the nearsighted eye and normal eye /Z‘BEQﬁETi’@, fAene Tite 3w 3R I 3
(2) The normal eye, the nearsighted eye and farsighted eye /ATHI-T 31, WWWWQWW

(3) The normal eye, the farsighted eye and nearsighted eye JITHT 31, mﬁmmﬁwgﬁt

(4) The nearsighted eye, the normal eye and farsighted eye /faehe gfSe, Wﬁ?:ﬂﬂ?iﬁ?&ﬁﬁ?

21. Match the following columns

AT st o1 Aee Y

Column 1 Column 2

(1). Bleaching powder/sellfRIFTAI38T  (a). Sodium bicarbonate/@3IH IShREIE

(2). Baking soda/afemar @YsT (b). Sodium carbonate /83T H F&fae

(3). Washing soda/€iet ST QIST (c). Calcium oxychloride /%%%mwm

(4). Plaster of paris/WﬁWm (d). Calcium sulphate hemihydrate /TR Oothe %ﬁ%‘l’g’@?

(A) (1)->c, (2)—>a, (3)—>b, (4)>d
(B) (1)=>a, (2)=>b, (3)->¢, (4)>d
(C) (1)->b, (2)->c¢, (3)=>d, (4)>a
(D) (1)->d, (2)>4a, (3)>b, (4)>c

22. Choose the CORRECT statement regarding Ohm's law:

31T &5 Foreren o5 Wi & T et

(1) 1t is valid for any circumstances, i.e. independent of temperature /Tg fonddt ot aRFEufa & forv A
g, U AT9HTT & FadT

(2) Ohm's law is valid for all conducting materials /WWWWWW%WW%

(3) The temperature must be constant for validation of this law /S8 IGRE KT gfed & forT arga = e

BTl TR

(4) All are wrong /& 3Teld &

Sol-

Since ohm's law is only valid for constant temperature. If we change the temperature then the resistance
of the conductor will change and that will change the relationship between current and potential
difference. So statement 3 is correct and statement 1 is wrong. So option 3 is correct. It is only valid for
ohmic resistance. So statement 2 is not correct.
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feh 30 o1 TATH sharel TEIT AT & ToIT & A 81T & | A §H ATTATA Sceld & dl shsere &1 TiaiY
deof STUaT 3R 308 gaATT 3R Tfad 3R & &g T S6of ST | 37 2T 3 TET & 3R HUA 1
I &1 37: fahed 3 TEY &1 TE dhad NS wfoiT & T AT §1 31T YT 2 T 8T g

23. The potential difference between the terminal of an electric heater is 60 V when it draws a current of
4 A from the source. What current will the heater draw if the potential difference is changed to 127.5 V?

Teh fae T E1eT o cifeTel & e HMIIe 3T 60 V § ST T§ AT & 4 A T 4RT Wiwrerr 8| afe Hemfad

3R PN 127.5 V H Seof AT ST A gl 7T &Ry Wiam?
(1)8.5A
(2)24 A
(3)10A
(4)12 A
Sol-
Given that:

In first instance, V = 60 volts, | = 4 Ampere
Therefore, Resistance (R) = V/I = 60/4 = 15 Ohms
In second instance, V = 127.5 Volts and R (as calculated above) = 15 Ohms.

Therefore, Current (I) = V/R = 127.5/15 = 8.5 Ampere.

Q24. Urinary System
GERMIC]

The "A" arrow points to the:

"7 AR ST I 8
a) adrenal gland/TfgeTel AT
b) cortex /hicaHd
c) ureter /ﬂ::lﬁT%?ﬁ

d) glomerulus /TATHETH
Sol-
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ADRENAL GLAND

_ Adrenal
— " gland Capsule

" !
[\ \
Medulla Cortex
Blood
vessels

Kidney

Q25. The structure labeled "B" is the:
"o Il aTell TRIT &

a) Cortex/ahicaHd

b) Bowmans Capsule /WWW
c¢) Collecting Duct /H3IgUT ATelehT

d) Nephron /ﬁﬁﬂ'



